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Simplify each of the following expressions.

1.   3(5x + 2) + 4(3x – 1) = __________

2.   5(2x – 7) + 6(x + 2) = __________
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A(B + C) = AB + AC
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# of coins 10(4x + 3) + 25x = 1200value ¢
10(4x + 3)

25x
total 1200 ¢

40x + 30 + 25x = 1200
65x

The RESAC  Process

Solve the equation.



  

Algebra II   Class Worksheet #1   Unit 1
Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

21.  In a collection of ordinary dimes and quarters, the 
number of dimes is 3 more than 4 times the number of 
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number of dimes is 3 more than 4 times the number of 
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x
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25x
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Answer the question.
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25x
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

21.  In a collection of ordinary dimes and quarters, the 
number of dimes is 3 more than 4 times the number of 
quarters.  If the total value of the collection is $12, then 
how many coins of each type are there?

x
4x + 3dimes

There are 18 quarters and 75 dimes.

quarters

# of coins 10(4x + 3) + 25x = 1200
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value ¢
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25x
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Solve each of the following word problems algebraically.  Show 
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21.  In a collection of ordinary dimes and quarters, the 
number of dimes is 3 more than 4 times the number of 
quarters.  If the total value of the collection is $12, then 
how many coins of each type are there?

x
4x + 3dimes

There are 18 quarters and 75 dimes.

quarters
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quarters

# of coins 10(4x + 3) + 25x = 1200

65x = 1170
 x = 18 

 4x + 3 = 75 

value ¢
10(4x + 3)

25x
total 1200 ¢

40x + 30 + 25x = 1200
65x + 30 = 1200
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22. An iron rod that is ten feet long is cut into three 
pieces.  The length of the longest piece is two inches more
than three times the length of the shortest piece.  The 
middle piece is eight inches longer than the shortest 
piece.  How long is each piece?
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